ANSWER SHEET
Listening comprehension

PART 1 (0.5X14 =7 pts)
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...... /7 pts
PART 2 (1X5 = 5 pts)
1. 2. 3. 4, 5.
...... / 5 pts
PART 3 (1X8 = 8 pts)
Statements 1 2 3 4 5 6 7 8
A,BorC
...... / 8 pts

TOTAL: ........ / 20 pts
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ANSWER SHEET - Use of English

Exercise 1 Put the correct letter (A, B, C or D) in the boxes below. (1x10 =10 pts)

1. 2, 3. 4. 5. 6. 7. 8. 9. 10.

...... / 10 pts
Exercise 2 Write only the missing words below. (1x5 = 5 ptfs)
1.
2.
3.
4,
5.
...... / 5 pts

TOTAL POINTS: ........ / 15 pts
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Classe: ..coovvvvvuuenns

ANSWER SHEET
Reading comprehension

TEXT 1 — Notes and messages (ixs-spt)

Statements 1 2 3 4 5
A,BorC

TEXT 2 — The Diet of the Future Planet Vegan (ixis- 151

EXERCISE ONE

Headings A-F A B | C | D E F
Paragraphs 1-6

EXERCISE TWO

T/F Correction (if false)

0PN R ®WN =

TEXT 3 — Graphs (ixs=s5pt)

Questions 1 2 3 4 5
A-H

TEXT 4 - The Chernobyl Disaster of 1986 (1x5-1501

EXERCISE ONE

Questions 1 2 3 4 5 6 7 8 9 10
A, BorC

EXERCISE TWO

imprecise
keeping out
interested in
immediately
extremely happy

TOTAL: ........ / 40 pts
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TOTAL: ........ / 40 pts




